MATH 202.5 (Term 162)
Duration: 30min

Quiz 5 (Sects. 6.2 & 6.3)

Name:

ID number:

1.)(5pts)Find 2 powers series solutions of the DE: (-3 +y —2y
2.)(2pts)Find the indicial roots of the DE 202"+ z(2° + 1)y — (3+22)y

3.)(3pts)Find a relation of recurrence satisfied by c,,

solution of the DE 3zy” + 2y + y — 0.
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MATH 202.10 (Term 162)

Quiz 5 (Sects. 6.2 & 6.3)

Name:

Duration: 30min

ID number:

1.)(5pts)Find 2 powers series solutions of the DE: (z+2)y" —2¢ —y=0.

2.)(2pts)Find the indicial roots of the DE 3z%y" —

z(l—z')y +(1-2)y= Oatx—O

3.)(3pts)Find a relation of recurrence satisfied by c,, where y = "> c,z" 3 is

solution of the DE 3zy” + 4y’ — y = 0.
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